IpakTuka 7.

VYpaBHeHus Ditniepa

618. X°y"+xy —y=0

619. Xy +3xy' +y=0

620. X2y"+2xYy +6y=0

623. (2x+1)°y"-2(2x+1)y' +4y=0
624. x?y" —3xy" +3y' =0

626. (x+1)2y" —12y' =0

627. (2x+1)2y" +2(2x+1)y"+y =0
por. (Xx+1)3y"+3(x+1)2y + (x+1)y=0

Heonnoponusie
628. X2y"+ Xy +y=x(6-Inx)

630. X’y —xy' —3y=— 16Inx

634. (x+13y" +3(x+1)?y' + (x+1)y =6In(x +1)

4291 (bepman) y" — Y. lz _2
X X X

Jloma (Kucenes, Kpacuos, Makapenko. O/1Y)

622. (x+2)%y"+3(x+2)y'—3y=0 Otser: y=C,(x—2)+C,(x—2)"°
625. x°y" =2y’ Orser: y =C, +C,x° +CsInx
y”—l+12=0 Otset: y=C;x+C,xInx
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